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Today we will 7”valearn v 47 of Pv3 noon
Some of the topics we will learn about include.

The Mishnah’s cases of

D7 DNYTNN VI N2ANA

And

aAN21°392 0N

DnM3°3192 XY VIR

The mbw testified that he saw only the 72°n3, but he did
not see the mmnn

OR vice versa

And the case of

1919 2117192

PR 0NN 19

He did testify to both, and he did see the entire 72°n>, but
he saw only half the n1>'nm, one witness signed the get.
OR vice versa;

The Gemara's discussion of whether the Gett is %109 in the
cases of

N0 T NN Sy O TYn 0w

If TWO others testify to the authenticity of the second

> nn

W 7 N nn Sy P70 NN N7

If the 5w and only ONE 7y testify to the second r>nn
30 TV RITIR IR IOR

If the 5w alone testifies that he actually signed the
second >y nn.

The Machlokes regarding a 71 mwA on Shabbos
whether

ONA R[N JWNn T2

A five nov elevation and a five nov wall on top of it are
99V3” combine, to form a nx'nv of 10 ROV,

The question of

PRIM> Mo o7

PRIMS M0 PRIR

Can a person purify his X0 hands in portions or not?
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So let's review ...

Our Mishnabh is a continuation of the first Mishnah of the
Masechta

DN NPTHN VI NN

DNN3*1921 2N31°192 IDRY PIX

A person who delivers a Gett from outside Eretz Yisroel
must testify that he was present during both, the 721>, the
writing of the Gett, and the 7»>°nn, when the witnesses
signed the Gett.

Zugt Di Mishnah:

D7 NPTHN VI RIADN

2N21°193 IR

DN °192 RS IR

If the 5w testified that he saw only the n2°n>, but he did
not see the >y nm;

OR vice versa;

nigighRilah]

1N33°1931 RV YR

He saw only the mi>’nn but not the n2'no.

OR

1915 20211192

PR DONNI 10

He did testify to both, and saw the entire 12°n>, but he saw
only half the n»°nn, one witness signing the get;

OR vice versa;

PXMAND3 101

5109 1915 ONn1 19721

He saw only half the 712°n3, the second part, but not the
first part that includes the names and the date; but he did
see the entire 7', when both witnesses signed.

In all these cases the Get is disqualified, because the
Chachamim initiated that the m5w must testify to the
entire 712'n> and entire 7 nn of the Gett.

Regarding the Mishnah'’s third case of
192021 1192

P DN 19

piloh)

RTOM 17 says

W T NN DY DY DY 190K

5109

DafHachaim.org

oo MANY - DT NIV 123 N7

anm 3ea 153 153
M9 Ea RO 5aN onm tina XY YaN

919 an93 183
WM BAMS 1159

PEM 9N53 153
%19 BAms *35a)

bvoB

The ™MD must testify to the
entire N2ND & entire NNN

£70n P
N AN SY Y o 1N
plar
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Even if TWO others testify to the authenticity of the
second 'nm, the Gett is still 9109, because L7 MM can
only be validated in one of two ways;

VI ORI IR

DN MPNIND IR

Either through the general mavw ovp in which TWO o7p
testify to the authenticity of BOTH nu>ynm;

OR

Through the specific mpn of a Gett, in which ONE m5w
testifies; DN 1922021393, that he saw both witnesses
sign.

However, if the 07 testify to only one n»nn, while the
now testifies to only the other i>nm, they CANNOT
combine to validate the Gett.

N17 disagrees with X701 27 and holds that in this case the
Gett is 7w), because

W T IR IPRT T RPN

5109791 RYRT ROV

If the m>w alone would testify that he only recognizes the
second >0, but did NOT actually see the witness sign,
the Gett would be 7w>; certainly the Chachamim did not
initiate that if TWO o»7v testify to the second ', the
Gett is 51007

However, X171 does agree that

W T NN SV PV RN IPOR

5109

Ifthe 5w and only ONE 7y testify to the second r>'nnm,
the Gett is 9109, because

RPODT MIVW OPR2 D19TPRY IR

Although for Gett this would be X IRTH W), it is 109
1312771, because this might be erroneously applied to a
similar situation of » in which such M7y is 109
RINRTD.

As Rashi explains; in a similar case of

TAR T OV HY PIINMN D0

If two o7y signed on a 70w, and one died before oyp
mow, the Halachah is;

POV TYRR PN 1 D0 PR

Two new o7y are required to testify about the deceased’s
>0, and the other 7y cannot be one of them, because the
Pasuk states;

927 O DTV DIW 0 DY

From which we derive

5w 1o HY 12730

mOw o Yy 127°3M

The action taken must be based equally - half-and-half -
on the testimony of each witness.

In this case, the oinnn 7Y - who CAN validate his own
signature by himself, and does not need the pywn » 7y - is
supporting half the claim; while the other o7 are
supporting the other half.

However, we cannot accept only one additional 7v along
with the remaining 0innin 7Y, because if we do that,
RIMHT RYDT I P OIND

R0 T NIOR

The majority, or three quarters of the claim is being
supported by one 7Y, the 0nnin 7v; because;

DafHachaim.org

Eum%2 others testifyy. Becawse G _pypn can
onl%/ be validuted in one 0% Two wayl;
020N Mpn2 1915 IR - VAN (2] k7] 1910 IR

TP NN RN
N T AR oY

£P) Duayees
Y NN
W9 T N 9N

508 "R ND'NT AR

Ythe pfland anly D) 9105
L the pfl alone testifl

one 7Y Test
to the second Ippp, the Geit
& Jjod, because
01°p2 "DYNRY INR
RNYYT MIVY

that /mreco' he
second Spnn the G s 0.

Ay Rashis expluing..
70H DY HVED DY PMDND OVE
PO 7DD PIED 1N ONE 1995
orSE MY BTN T i g Y
Of 5p 1D DY 937 95M ! mp'
The action takew must be based W@/owm/ywn‘w

The oinnn 7, by validating his signature by himself; is
already supporting half the claim. Now, when he joins with
the pwn 1 7Y to validate the signature of the n»n 7y, they are
together supporting the other half of the claim - each a
quarter; which results in the majority of the claim being
supported by one 7y, which is Xn»x 7 )09 based on the
above-mentioned Pasuk.

Rashi points out that regarding Gett

O T TN 5V PV MR NI

Would be Xn»ix71 9w), because the second 7y is irrelevant,
since as explained earlier, the 5w can authenticate the
second signature of the N1 7Y by himself based on the nipn
o'»on of an21 2193, since ™MD 1327 1.

However, it's 132770 %1090 because of a n7i of the previous
case of mTOW 0P, where it's RN MRTH M09,
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"WR 17 disagrees with both 701729 AND X237 and holds
that in this case the Gett is 7w>, because

MW RNDT PO FPR T PO IPRT TH RIR D

2109 77712 TN RYRT ROV

Ifthe 5w alone would testify to the second m>nm, the
Gett would be 7w, certainly the Chachamim did not
initiate that if the 5w is joined by another Ty, the Gett is
509?

However "wx 11 does agree that

W TV RIT IR MINITOR

509

If the 5w testifies that HE is actually the second witness
signed on the Gett, it is :109, because

VAT ORI D IR

DI MIPNA I IR

The Gemara now proceeds with several other Halachos
that are similar in that there is a question whether they can
be combined.

1.

On Shabbos a person is permitted to carry in a 7R mw, a
private domain, which is created by a nx’nm», a partition of
10 D19V, in one of two ways:

Either, a nx°n» of ten o'nov surrounds the 7m0 mwy and
separates it from other areas, or through 7172, the mw~
i is elevated ten 0nov, and is thereby separated from
the lower areas.

R7OM 17 says

NN AR NN VRN T

POIOIN PR

Ifthere is a five nov elevation and a five nov wall on top
of it, it is not considered a nx°n» for the upper 7 mw,,
because

AXMNL 9D IR RPW TV

TTIINIIN

A nxnnis only if it was entirely through a wall of 10
Dm9Y, or a T of 10 0'NoY, but they are not 47031 to form
anmn.

POTOID NWHBMA XTI VDA TITA I WIT

I disagree with X70m 27 and holds that the elevation
and wall are 97031 to be considered a 10 nov wall.
POI0RH RN

The 11950 follows 9 that it's a valid nxemmn.

a2

b > b >

Digagrees

N 19N Y NN
WP MmN N D o N
bvep W NN 9EH

Ptherlbratfiesthathe  RIWTROLN
z%&mon/wd‘wufne/m e -

the Gett, it i fjoo, hecawse A
VAN OPP2 19 N 105
91 IR {
DM5N Mpna

@

£70h P Mt
RN AN AR T
1DIBXM 1N

wo Oz
PN AXTRY PRn T
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2.

ROYR V2

PRI Mo o7

PRIAY A0 PRI

Can a person purify his X»v hands in parts or not?

As the Gemara explains there is NO question when

77T RaDO RADO W RPT

He first washed one half of his hand, and afterward he
washed the second half, and when he washed the second
half the first half was already dry, that

PRIAD M0 PR

The first half that was already dry cannot be 970xn with
the second half, and his hand does NOT become :70.

And there is also NO question if the first half was only
now, slightly wet, but not to the degree of ovnb, that it
could moisten something else, that

PREAD N0 PR

Because

7705 R ARDIVS RS NMIPR 1910 Apwn

Regarding purification, oy npwn is not enough liquid to
combine with other liquid.

The question is only if

OVIY N9 RIRT

When he washed the second half, the first half was still so
wet that it could moisten something else, which is
considered a 2’0 regarding a mpr;

Do we say

mamnorT

Because this is NOT considered pr3nb since there is a
n2n.

OR we say

mMav PRYT

Because this is considered px3nb since each half hand was
washed separately.

DafHachaim.org
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PRYMD DY 1N N
Can a person purify his RDD hands in parts?

a a

Thereis no There is no question when
question when the first half was
RIID YON RPT NOW, slightly wet,
77 RAYD but not "ODND,
If he first washed that it could moisten
one half and later something else, that
the second half PRENY MMNNLV PR
when the first half Because
was already dry, 2D 1R DD NPYD
that MDD D) NNLIDD RS
ML PR
PRENY

ek Zj/;ﬂbz?/mf moa?/v W

to combine with ather W

The question is only if

n°DvVNY NDIV RIRT
When he washed the second half, the first half
was still so wet that it could moisten something else,

which is considered a M2’N regarding a MPN;

T > 1T

MMV PR mmno
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